

HW: DUE 9/9/14 (TUESDAY)

Remember, just combine like terms.

$$3a + 5b - 7b = 3a - 2b$$

$$3a + 5b - 7b = 3a - 2b$$

$$8s - 3s + 4k =$$

$$10x + 6y - 5x =$$

$$10x - 6y + 5x =$$

$$16a + 9 - 7a =$$

$$a + 2b - 8a =$$

$$2x - 6y + 7x + 2y =$$

$$6s^2 - 3s^2 + 4t - 6s^2 =$$

$$2b + 4 + 3b + 9 =$$

$$10 - 14xy + 12xy + 21 =$$

$$3x - 7y + 5x - y =$$

$$6c - 5 - 2c - 7 - 8d =$$

$$2x + 5y + 3 + 7x + 2y + 7 =$$

$$12 + 6p + 3q - 5p + 7q - 2 =$$

$$a^2 + 5a - 3 - 7a + 6a^2 - 4 =$$

$$6x^2y + 3xy^2 - 4x^2y - 3xy^2 + x^2y =$$

$$5 + x - 3 + 2x - x + 7 - 8 + x =$$

$$x^2 - 7x + 4 + x^2 + 4x + 6 =$$

$$3x^2 + 5 + x^2 - 9 + x^2 + 16 =$$

$$5a - 4b + 2c - 3b - 6c + a =$$